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Hongkong is the most leading countries of MICE industry throughout the world.

What do you think is the reason Hongkong gets strong in tourism industry?

Hotel and Tourism Management, Haiyan Song
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In case of Korea, due to the competition and problems of seeking premises, the

of many

key to lead cooperation

the

canceled. What's

was

business

organizations?
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Recent articles show that Hongkong Disneyland is now showing losses 3 years
in a row, and what do you think is the reason? Despite these deficits, do you

think this industry should keep going on?
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KEEf,  BAT SR A EEEN I A 74,
Hello. We are students from Ajou University, South Korea.
FNAE ST GEEDy Rl Wi & O A NAZHEA T R ERVERY A ) iU A
Our main goal of this survey is to get to know about your recognition of
‘Disneyland as a landmark’Should Korea has to start on global theme park

industry for the revival of tourism industry.

1. x5EEHWFE 2 Where are you from?
a) 7 ¥ Hongkong
b) +h[EAKRE China

c) HfEZ The others( )
oL L2t E4Q17)

]
ofot

S| S=|m 7[Et=7t




2. B BRIE T (a) 7T Bh %0
ERFWHREN B, SRS R ET G HEREE 7 If you select b or c,
Did Disneyland take a large part to bring you Hongkong?
a) BN A little
b) —#% soso
c) K A lot

Cl=H 7t 36 280
HFr: §F2 0|HLR?

3. I\ hEESEET R & AT ? Do you satisfy with Hongkong Disneyland?
a) I Yes
b )% (5 HEE)soso
c) WH MEIN Iy T E SR T
If you have any suggestions for improvement of Disneyland, Please write down

here
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4. RuAEE BT EFHEEESHREEERNAE
Do you think Disneyland is working as a landmark in Hongkong?

a) = A lot
by —xi A little
¢ T& No

CI=LMET} B30

HEDIIZN G20 470

mCHe 2 E motLCt

5. s E R I E R R R, RN RS E S i 2
If Disneyland opens in Korea, do you intend to visit?
a)il yes

b) A~ no

Cl=L e} st=0f 7i &5t
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